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Section 3.2: Adding

5. Determine each sum.
a) —1.2 + (—0.3)
- -1.9

c) —23.6 —4.57
=~ -2%.11

6. A technician checked the temperature of a
freezer and found that it was —15.7°C.
She noted that the temperature had
dropped 7.8°C from the day before.

a) What was the temperature the day

?
before? o+ (-39

= —23.5

7. Determine each sum.
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Section 3.3: Subtracting

8. Determine each difference.
a) —3.4 — (—4.8) d) 63.2 — 80.02
z\.u = -16.82

10. Determine each difference.

5
e - 2 -9
2 - s T

T Jo +i’?}
- 3\ Y0 T
0
-
Y



Section 3.6z_Test Review_Textbook Questions_ans.notebook September 23, 2022

Section 3.4: Multiply

14. Determine each product.

3 1
b) (—4.1)(2.3) D15 X (—22)
< -943
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Section 3.5: Dividing

16. Predictwhicihrexpresstors trave a vatue

Detween — I and I. Calculate each quotient

to check.
9 . (3
a) (—2.2) + 0.4 9 >+ (5)
- -5.5
A | Z
1 3z
3 x 2
5 1
-3
5
19. Determine each quotient.
b) (—20.6) =+ (—0.9) 9 ( “) . (5)
= A e s
I e
- -4
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Section 3.6: BEDMAS

r

21. Evaluate

September 23, 2022
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23. Evaluate each expression. Show your work
to illustrate the order of operations.
a) —1.2 +(0.6) — |63+ (—3.4)]
sy -Loag ]

|
-9 - (249

= -44
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= 5%
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Paae 144 question 13 cd

13. Use a calculator to evaluate.
Write the answers to the nearest
hundredth where necessary.

0.67 — 4.2 + (—0.2)

C)

September 23, 2022

(=73 + 8.6)
Toe " Bettom
0.67 — 4.2 + (—0.2) (=73 + 8.6)°
— 2
06F — (-3 ( (-3 )
NN, = 1.69
Top _ALed

= (2.92

Bottorm l.ca
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13. Use a calculator to evaluate.
Write the answers to the nearest
hundredth where necessary.

8.9 X (=3.1 +22.7)* + 4.7

September 23, 2022

d
) T (Z9.6) = 0.04 — 04
Top
8.9 X (—3.1 + 22.7)> + 4.7 (—9.6) + 0.04 — 04
1 —
¢q x (196 +42 240 - 0.9
g a X .k 4.} = -dY0.0Y4

—
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